1. For Darlington emitter follower circuit, obtain expression for overall current gain.
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2. For voltage series feedback topology obtain expressions for gain, input impedance and output
impedance.




3a. Explain the block diagram of feedback amplifier

Feedback has been
Chapters 10 and 11T
cucnit, one may 4

yoltage gain, or
posinve feedback

A typical feed!
4 miver network, W
signals V; is then



3b. With neat diagram explain cascade amplifier.

The two—port systems approach
is pamcularly. useful
\rl, AV@’ A .




4. Explain the effect of negative feedback on (i) Gain Stability (ii) Distortion

5. Draw the circuit of Darlington emitter follower with voltage divider bias. Calculate input impedance,
voltage gain and output impedance . Take 1= 32=100.R:=R,=100kQ; Re¢ = 5kQ, Take r. = 100Q.
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6. Two amplifiers are cascaded. The load resistance R = 20 kQ, and internal resistance of the
source is 2kQ. Find the

(i)Loaded voltage gain of each stage

(i) Total voltage gain of cascaded amplifier with Rs

(iii)Current gain of cascaded amplifier

(iv)Output Impedance

The first stage has No load voltage gain of 1, Input impedance = 500kQ,Output Impedance =
1kQ. The second stage has a No load gain of 300, input impedance of 1k and output impedance
of 50kQ.
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Example 5.14

Solution:
mitter-follower configuration, the loaded gain is (by Eq. {(5.94))
5 56 O :
Zis._ st D ik (1) Vi, = 0.684 V;,
7 b T 26 0 + 120
74
- = 0.684
\
ysmmon-base configuration.
= ) 3
_1 Ry 3 = 82k —(240) V. = 14797V,
T Ry Rasaisri R2kQ + 5.1kQ -
= 147.97
\
A, = Ap A
| — (0.684¥147.97)
i — 101.20
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In total, therefore, the gain i< about 25 limes gmalerwithtlie
o draw the signal (o the amplifier SLIZES. Note; however,
output impedance of the first stage is relatively close (o th
stage. btherwise the signal would have been “Jost” again by the



